HENEREREES i
SHS5F9H1H (&)

$:550) (847 : kg)
EES G b B = = 1B Z 1B " =

S 20% T 1,199.9 701 35
<IN 2,117.7 41 40
AATHLA 61.9 969 400
JUH LA 422.0 921 20
LSHLA 1,254.3 729 20
TFELASH LA 195.0 1,146 246
ZRHLA 2,163.5 359 20
IALA 259.4 789 100
<aAHLA 41.9 1,050 229
FAATLY 529.3 669 50
<A 66.7 1,389 409
FA 114.6 510 51
TVAVTAFA 60.8 200 30
F7>00 1,107.7 250 40
HFHZS 873.1 88 20
TIPSR 43.4 80 23
ALY 101.8 4,800 51
VN 45.0 | 23,690 | 12,340 [Lo°
HHZEHA 144.2 50 21
RIS 47.6 1,100 30
< k5o 120.3 639 20
A 35.3 509 23

it 7,687.8




[fi¥£a]) (847 kg )
FRZETELE AiEE W =2 = B Z 1B fm &
SHE  20% IAHYT 673.5 778 20
sH= 673.5 2,300 100
5S4 NIFI A 66.0 801 298
ZILAA T 4,437.0 770 269
RILAA FI5E 265.0 5,111 1,000 [oo "
U 5 1,266.0 1,600 50
U D 120.0 4,850 500 (o e
4T 2,063.0 800 50
AFF<3 158.0 750 300
sHgE 17,409.8




§::3=:) (BT ¢ kg )
JRETELE =V n = /[E] Z 1B B &
EEXRIFE 46 |E5 X 124.1 1,890 200
_~ 40.1 395 20
2O0F 29.8 369 20
I5 A 27.1 322 50
>0OX)VUL 141.4 2,040 1,069
AE AN 80.4 130 50
HY= 224.3 1,400 200
finERiE 56& > A 17,717.3 1,150 50
BHE 102 HRwFHA 2,662.1 700 300
#D 20 JU 27.5 430 269
= 20,950.0




[;Efa] (BT ¢ kg )

pHE i miEH o2 = B Z B " =
EEXFE 468 |ESX 909.5 2,300 600
§o 29% ESX 274.3 2,500 1,300
aitaE 1,183.8




